
Chapter 15 Financial Strategy – Investment Appraisal and Financial Ratio
	LEARNING OBJECTIVES

1.
Explain the link between strategy and finance.
2.
Explain finance decisions to formulate and support business strategy.

3.
Explain the various investment methods for project evaluation.

4.
Apply ratios to assess the performance of an organisation.
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1.
The Link between Finance and Business Strategy
1.1
Finance and strategic planning
1.1.1
Finance issue are relevant to strategic planning in three ways.
(a)
A finance objective is normally the main corporate objective of a business entity. Even for a not-for-profit entity, its main objective will be limited by the availability of finance.

(b)
An entity must have a financing strategy. It must be able to finance its planned strategies. If it does not expect to have enough financial resources to pay for its planned product-market strategies, it must develop strategies for how it should obtain the additional finance required.

(c)
Accountants should be able to provide valuable management information to management about business strategy, to help management to make strategic decisions.
1.2
Financial objective
1.2.1
It is important to remember that a business entity has a financial objective, which might be stated in terms of providing a return to the shareholders. In selecting and implementing its product-market strategies, an entity should not lose sight of its financial aims.
1.2.2
In preparing a business plan, senior management should assess the expected return for shareholders, in both the short term and the long term, from the planned corporate and business strategies.
1.2.3
The financial objectives might be measured in terms of annual profit growth or return on shareholder capital over the period of the business plan. Other measurements of financial return might be used.
	1.2.4
	Example 1

	
	UK company William Hill is a listed company specialising in gambling, with a chain of betting shops and a business for on-line betting through the Internet.
A UK government policy was announced indicating that a large number of gambling casinos would be allowed to open up and operate. William Hill decided that it should follow a strategy of concentric diversification by entering into this new area of operations. Its intention was to expand into casino operations by means of an acquisition, and it began to accumulate cash to finance it.
However, the UK government changed its policy and chose to restrict the number of casinos it would allow in the country. This change of policy dramatically altered the strategic outlook for William Hill, which now saw ‘fewer synergies’ between betting and casino operators.
Instead of using its cash to fund other acquisitions, the company recognised its primary objective, to provide a return to its shareholders, and in 2005 it announced an additional dividend of over £450 million.
Having a strong cash position, and no longer expecting to make a takeover bid, it felt that it could support a much higher level of debt finance if necessary, and had no need for the cash to finance growth.
The company still intended to pursue strategies for growth, but these were now expected to be:
· Increasing the number of point-of-sale machines in its betting shops

· Buying and opening more betting shops

· Expanding its on-line betting business.


1.3
Funding strategy
1.3.1
The main objective of a company is to achieve a financial return for its shareholders. In addition, a company should have finance strategies that support the overall business objectives.
1.3.2
An important aspect of finance strategy is funding. An entity needs to plan its funding requirements in advance, so that it is able to obtain the funding required:
(a)
profits after tax, and

(b)
dividend payment policy.

1.3.3
Estimates can be made about the expected profits that will be made each year over the business planning period, and the amount of dividends that the company intends to pay to its shareholders (which depends on the company’s dividend policy).
	
	$

	Total investment requirements
	X

	Funding available from retained profits
	Y

	Funding shortfall (or surplus)
	(X – Y)


(a)
Filling the funding gap

1.3.4
A funding shortfall is a funding gap that has to be closed. The funding gap might accumulate over the period of the business plan. For example, if there is a funding shortfall of $4 million in Year 1, $2 million in Year 2 and $5 million in Year 3, there is a total funding gap of $11 million over the three-year period. The gap might be closed by raising additional finance of $11 million in Year 1. Alternatively, the entity might raise $4 million in Year 1 and $7 million in Year 2.
1.3.5
A funding strategy should be developed, to decide how the funding gap can be closed. There are two ways of closing the funding gap:
(a)
changing business strategies, so that the capital investment requirement is reduced, or

(b)
obtaining additional funds.
(b)
Financial gearing

1.3.6
The main external sources of funding are:

· equity finance (issuing new shares)

· debt finance (bank borrowing or issuing bonds)

· leasing finance.
1.3.7
A company should not use short-term finance (credit from suppliers and a bank overdraft) to finance long-term capital requirements.
1.3.8
You should already be aware that debt capital is usually cheaper than equity capital. Equity shareholders should expect a higher return than providers of debt capital, because their investment risk is higher. Companies also receive tax relief on interest payments on debt, but do not get tax relief on dividend payments to shareholders.
1.3.9
Since debt capital is cheaper than equity, companies might be expected to prefer borrowing to issuing new shares.
1.3.10
However, with high levels of financial gearing (a high ratio of debt capital to equity capital) the financial risk for the company is higher. There is a greater is that the company will be unable to meet its obligations to pay interest on the debt and repay the debt capital on schedule.
(a)
High gearing may therefore increase the risk of legal action by lenders and insolvency.

(b)
A highly-geared company may also have difficulty in raising additional debt finance, except at a much higher interest cost.
1.3.11
Funding strategy may therefore be based on achieving or maintaining a suitable level of financial gearing, by obtaining required funds through a mixture of retained profits and external funding (equity, debt and lease finance). There are no ‘rules’ about the maximum level of financial gearing that is safe or desirable.
	1.3.12
	Example 2

	
	A company has estimated that it will need an additional $40 million of capital in the next three years. Of this total, it is expected that $10 million will come from retained profits.
The market value of its equity is currently $80 million and its total long-term debt is $60 million.
The board has agreed the following finance strategy:

· At least one third of its total capital value should be in the form of equity and at least one-third should be in the form of debt capital.

· The remaining one-third of capital value may be either equity or debt.

· The choice between debt and equity for external funding should comply with this strategy requirement, and should also seek to minimise the company’s cost of capital.


(c)
Other influence on funding strategy
1.3.13
There might be other factors that affect a company’s choice between equity and debt as a source of new finance. Small and medium-sized enterprises (SMEs) whose shares are not traded on a stock market often have difficulty in obtaining new equity finance, and they are usually unable to raise debt finance by issuing bonds. These companies must therefore rely for long-term funding mainly on retained earnings, bank loans and lease finance.
1.3.14
In your examination, if you are asked to discuss funding strategy for a private company, do not write an answer that discusses funding options that are available to a public company but not a private company. The examiner has commented: ‘In our experience, candidates too readily associate funding opportunities and stakeholder expectations of a plc [public company] with a case study scenario which is clearly describing a private limited company.
1.3.15
A private company might choose a strategy of becoming a public company so that it will be able to issue new shares on a stock market and improve its access to external equity funding.
2.
Investment Appraisal Methods

2.1
Payback period

2.1.1
Time it takes the project to payback its initial investment.
2.1.2
When is useful?

· seeking to claw back cash from investments as quickly as possible
· commonly used for initial screening of investment alternatives
2.1.3
A long payback period is considered risky because it relies on cash flows that are in the distant future.

2.1.4
Decision rule:

· only select projects which payback within the specified time period
· choose between options on the basis of the fastest payback
· provides a measure of liquidity
2.1.5
General approach:

	Year
	Cash flows ($)
	Cumulative cash flows ($)

	0
	(100,000)
	(100,000)

	1
	20,000
	(80,000)

	2
	30,000
	(50,000)

	3
	40,000
	(10,000)

	4
	30,000
	20,000

	5
	40,000
	


Payback period = 3 years + 10,000/30,000

= 3.33 years or 3 years 4 months

2.1.6
Discounted payback period:

	Year
	Cash flow

($000)
	Discounted

Cash flow @10%

($000)
	Cumulative cash flow

($000)

	0
	(2,000)
	(2,000)
	(2,000)

	1
	600
	545
	(1,455)

	2
	500
	413
	(1,042)

	3
	600
	451
	(591)

	4
	600
	410
	(181)

	5
	300
	186
	5

	6
	200
	113
	118


The payback period is about 5 years.
2.1.7
Advantages and disadvantages of payback period

	Advantages
	Disadvantages

	· It is simple

· It is useful in certain situations:

· Rapidly changing technology

· Improving investment conditions

· It favours quick return:

· Helps company growth

· Minimizes risk

· Maximizes liquidity

· It uses cash flows, not accounting profit.
	· It ignores overall profitability after the payback period

· It ignores time value of money

· It is subjective – no definitive investment signal


2.2
Accounting Rate of Return (ARR)
2.2.1
Also known as ROCE or ROI.

2.2.2
Decision rule:

· ARR > target return or hurdle rate, accept the project

· Take the project with the highest ARR

2.2.3
Calculation of ARR – three version

· Annual basis –
	ARR
	=
	Profit for the year
	× 100%

	
	
	Asset book value at start of year
	


Then, take average of each year’s ARR to find the average ARR.

· Total investment basis –
	ARR
	=
	Average annual profit
	× 100%

	
	
	Initial capital invested
	


· Average investment basis –
	ARR
	=
	Average annual profit
	× 100%

	
	
	Average capital invested
	


	Average capital invested
	=
	Initial investment + Scrap value

	
	
	2


2.2.4
Advantages and disadvantages of ARR

	Advantages
	Disadvantages

	· It is a quick and simple calculation
· It involves the familiar concept of a percentage return
· It looks at the entire project life
	· It is based on accounting profit and not cash flows.

· It depends on accounting policies and this can make comparison of ARR being difficult.

· It is a relative measure rather than an absolute measure and hence takes no account of the size of the investment
· Like the payback method, it ignores the time value of money.


2.3
Net Present Value (NPV)

2.3.1
PV of cash inflows compare with the PV of cash outflows to obtain a NPV.

2.3.2
The discount rate equals its cost of capital or WACC.

2.3.3
Decision rule:

· 
NPV > 0, the project is financially viable, i.e. accepted.

· 
NPV = 0, the project breaks even.

· 
NPV < 0, the project is not financially viable, i.e. rejected.

2.3.4
If the company has two or more mutually exclusive projects under consideration it should choose the one with the highest NPV.
2.3.5
The NPV gives the impact of the project on shareholder wealth.
· All acceptable investment project should have positive NPV

· The market value of the company, theoretically at least, increases by the amount of the NPV
· The share price of the company should theoretically increase as well

· Objective of maximizing the wealth of shareholders is usually substituted by the objective of maximizing the share price of a company
2.3.6
Advantages and disadvantages of NPV

	Advantages
	Disadvantages

	· Considers the time value of money

· Is an absolute measure of return, i.e. absolute increase in corporate value

· Is based on cash flows not profits

· Considers the whole life of the project

· Should lead to maximization of shareholder wealth

· Can accommodate changes in discount rate

· Has a sensible re-investment assumption

· Can accommodate non-conventional cash flows
	· It is difficult to explain to managers and relatively complex

· It requires knowledge of the cost of capital




2.3.7
Why NPV is superior to other methods?

· NPV considers cash flows
· NPV considers the whole life of an investment project

· NPV considers the time value of money
· NPV is an absolute measure of return
· NPV directly links to the objective of maximizing shareholders’ wealth
· NPV offers the correct investment advice
· NPV can accommodate changes in the discount rate
· NPV has a sensible re-investment assumption
· NPV can accommodate non-conventional cash flows
2.4
Internal Rate of Return (IRR)

2.4.1
IRR is defined as the discount rate at which the NPV equals zero. In other words, the IRR represents the breakeven discount rate for the investment.

2.4.2
Decision rule:

· 
IRR > cost of capital, project accepts

· 
The higher IRR is the better
2.4.3
Steps in calculating the IRR using linear interpolation:

1.
Calculate two NPV at two different discount rates. One must be positive and another one must be negative.

2.
Using the following formula to find the IRR

IRR = L + 
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where:

L = Lower rate of interest

H = Higher rate of interest

NL = NPV at lower rate of interest

NH = NPV at higher rate of interest

2.4.4
Advantages and disadvantages of IRR

	Advantages
	Disadvantages

	· Considers the time value of money
· Is a percentage and therefore easily understood
· Uses cash flows not profits
· Considers the whole life of the project
· Means a firm selecting projects where the IRR exceeds the cost of capital should increase shareholders’ wealth.
	· It is not a measure of absolute increase in company value.

· Interpolation only provides an estimate and an accurate estimate requires the use of a spreadsheet program

· It is fairly complicated to calculate

· Non-conventional cash flows may give rise to multiple IRRs
· Can offer conflicting advice between IRR and NPV in the evaluation of mutually exclusive projects

· Assume cash inflows being reinvested at the IRR rate, this is unrealistic when IRR is high.


3.
Determination of the Cash Flows

3.1
Relevant cash flows

3.1.1
The following principles should be applied when identifying costs that are relevant to a period.

	Relevant costs
	Explanation

	Future costs
	· Future cost arises as a direct consequence of a decision.

· Sunk costs should not be included because it is past and so irrelevant to any decision.

	Cash flows
	· Future costs which are in the form of cash should be included.

· So depreciation should be ignored because it is not cash spending.

	Incremental costs
	· Increase in costs results from making a particular decision.

	Opportunity costs
	· It is the value of a benefit foregone as a result of choosing a particular course of action.


3.2
Non-relevant costs

3.2.1
Other non-relevant costs:

· Committed costs – they are future cash flow but will be incurred anyway, regardless of what decision will be taken.

· Interest costs – they have already been included in the discount rate, if counted, it will be double counted.

4.
Allowing for Tax, Inflation and Working Capital
4.1
Inflation

4.1.1
Inflation has two impacts on NPV:

· 
Specific inflation – cash flow rises by the rate of inflation

· 
General inflation – cost of capital (or discount rate) rises by the rate of inflation.

4.1.2
Real and money (nominal) interest rate

· It has the following relationship between real interest rate and nominal interest rate under Fisher’s equation.

(1 + i) = (1 + r) (1 + h)

Where h = inflation rate

r = real interest rate

i = nominal interest rate

4.2
Taxation
4.2.1
Taxation has the following two effects on cash flow:

	Effects
	Explanation

	Tax on profits
	· Calculate the taxable profits (before capital allowances) and calculate tax at the rate given.

· The effect of taxation will not necessarily occur in the same year, often one year in arrears in the examination.

	Tax benefits from WDAs
	· Normally 25% writing-down allowances on plant and machinery (can be straight-line)

· Remember the balancing allowance or balancing charge in the final year.


4.3
Working capital

4.3.1
New project requires an additional investment in working capital.

4.3.2
The treatment of working capital is as follows:

· 
Initial investment is a cost at the start of the project, i.e. cash outflow.

· 
If increasing during the project, the increase is a relevant cash outflow.

· 
Working capital is released at the end of the project and treated as cash inflow.

4.4
General layout of cash flow preparation

4.4.1
The general layout can be shown as follows:

	Year
	0
	1
	2
	3
	4

	
	$000
	$000
	$000
	$000
	$000

	Sales
	
	X
	X
	X
	

	Costs
	
	(X)
	(X)
	(X)
	

	Operating cash flows
	
	X
	X
	X
	

	Taxation
	
	
	(X)
	(X)
	(X)

	Tax benefit of CAs
	
	
	X
	X
	X

	Capital expenditure and scrap value
	(X)
	
	
	X
	

	Working capital changes
	(X)
	(X)
	(X)
	(X)
	X

	Net cash flows
	(X)
	X
	X
	X
	X

	Discount factor
	X
	X
	X
	X
	X

	Present value
	(X)
	X
	X
	X
	X


	Question 1

The following draft appraisal of a proposed investment project has been prepared for the finance director of OKM Co by a trainee accountant. The project is consistent with the current business operations of OKM Co.
Year

1

2

3

4

5

Sales (units/yr)

250,000

400,000

500,000

250,000

$000

$000

$000

$000

$000

Contribution

1,330

2,128

2,660

1,330

Fixed costs

(530)

(562)

(596)

(631)

Depreciation

(438)

(438)

(437)

(437)

Interest payments

(200)

(200)

(200)

(200)

Taxable profit

162

928

1,427

62

Taxation

(49)

(278)

(428)

(19)

Profit after tax

162

879

1,149

(366)

(19)

Scrap value

250

After-tax cash flows

162

879

1,149

(116)

(19)

Discount at 10%

0.909

0.826

0.751

0.683

0.621

Present values

147

726

863

(79)

(12)

Net present value = 1,645,000 – 2,000,000 = ($355,000) so reject the project.
The following information was included with the draft investment appraisal:
1.
The initial investment is $2 million

2.
Selling price: $12/unit (current price terms), selling price inflation is 5% per year

3.
Variable cost: $7/unit (current price terms), variable cost inflation is 4% per year

4.
Fixed overhead costs: $500,000/year (current price terms), fixed cost inflation is 6% per year

5.
$200,000/year of the fixed costs are development costs that have already been incurred and are being recovered by an annual charge to the project

6.
Investment financing is by a $2 million loan at a fixed interest rate of 10% per year

7.
OKM Co can claim 25% reducing balance capital allowances on this investment and pays taxation one year in arrears at a rate of 30% per year

8.
The scrap value of machinery at the end of the four-year project is $250,000

9.
The real weighted average cost of capital of OKM Co is 7% per year

10.
The general rate of inflation is expected to be 4·7% per year
Required:

(a)
Identify and comment on any errors in the investment appraisal prepared by the trainee accountant.
(5 marks)
(b)
Prepare a revised calculation of the net present value of the proposed investment project and comment on the project’s acceptability.
(12 marks)
(c)
Discuss the problems faced when undertaking investment appraisal in the following areas and comment on how these problems can be overcome:
(i)
assets with replacement cycles of different lengths;

(ii)
an investment project has several internal rates of return;

(iii)
the business risk of an investment project is significantly different from the business risk of current operations.
(8 marks)


(25 marks)



(ACCA F9 Financial Management June 2010 Q3)


5.
Financial Analysis for Business Strategy
5.1
The nature of financial analysis for business strategy

5.1.1
The finance and accounting function provides financial information to senior management that helps them to evaluate the current strategic position and make financial projections and forecasts for the future.
5.1.2
Financial analysis of historical performance and the current position. An analysis of financial performance and financial position contributes to a strategic position analysis. Management need to understand the financial strengths and weaknesses of the entity.

5.1.3
Financial analysis can also be used to assess whether the objectives of a business strategy are realistic. For example, suppose that in the past three years, the gross profit ratio (ratio of gross profit to sales) has been 10%, and the business plan for the next three years predicts a gross profit ratio of 15% in Year 1, 20% in Year 2 and 25% in Year 3. This scale of improvement in the gross profit ratio is likely to be unrealistic, and management should re-assess the expected benefits of their proposed business strategies.

5.1.4
Business plans are often expressed in financial terms, and senior management need financial forecasts or projections.
5.1.5
There should be financial assessments of proposed new business strategies. Will a particular strategy provide an adequate return on investment? The anticipated benefits should be measured in financial terms, and compared with the expected costs.

5.1.6
A financial analysis of the actual benefits obtained should be prepared as part of the post-completion audit of projects.
5.2
Uses of Financial Ratios

5.2.1
Ratio analysis is applied to evaluate a company’s financial position and performance in the following areas:

(i)
Liquidity ratios;

(ii)
profitability ratios;

(iii)
management efficiency ratios;

(iv)
capital structure ratios; and

(v)
investment ratios.

(A)
Liquidity ratios

5.2.2
Of crucial importance to any organization is its ability to meet day to day debts as they fall due. It is not uncommon for a business which (on paper) is making a profit, to experience sever liquidity problems and there are two commonly used ratios which highlight such a situation.

(a)
Current ratio (流動比率)

5.2.3


	Current ratio =
	Current Assets

	
	Current Liabilities


5.2.4
The current ratio measures the relationship between an organisation’s current assets and its current liabilities. For example, if an organisation’s balance sheet shows current assets of $90,000 and current liabilities of $30,000, the current ratio is 3:1 ($90,000/$30,000). This means that for every $1 of current liabilities the organization has $3 of current assets.

5.2.5
There is no standard or recommended current ratio since it will vary depending upon the sector in which an organization operates. For example, fast food outlets such as McDonalds (0.5:1), or football club such as Tottenham Hotspur (0.17:1) will be able to operate with a relatively low current ratio. This is due to the nature of their business which entails low levels of stock, debtors and an abundance of cash rather than credit sales. In such organizations cash flow and hence liquidity will not normally be a problem and a relatively low current ratio will suffice.

(b)
Acid test (quick) ratio (速動比率)

5.2.6
	Quick ratio =
	Current assets – stock

	
	Current Liabilities


5.2.7
The acid test ignores stock, and concentrates upon those assets which can immediately be turned cash if liquidity problems do occur. Continuing the above example, if stocks comprise $45,000 of the organisation’s current assets, its acid test ratio will be:

	$90,000 – $45,000
	= 1.5:1

	$30,000
	


5.2.8
In the event of sever liquidity difficulties an organization can encourage debtors to pay more quickly, whilst short term investments can very quickly be sold and converted into cash. However, stock can take longer to convert to cash, especially if it is of a specialist nature, and it is, therefore, excluded from current assets when calculating the acid test ratio.

5.2.9
A current or acid test ratio which is significantly different to that of other organizations operating within the same sector might indicate a number of problems and should be investigated further:

(i)
ratios which are significantly lower than those of other organizations operating within the same sector might imply that an organization is too dependent upon short term borrowings for the funding of its day to day operations.
For example, an organization which has excessively high levels of trade creditors, short-term loans and a bank overdraft, may be forced to cease trading if any of these sources of finance is suddenly withdrawn;

(ii)
whilst significantly high current and acid test ratios indicate that cash flow is not a problem, they might suggest that an organization is not using its resources as efficiently as it could be, resulting in a lower than expected rate of return which will not please existing or potential shareholders.

For example, a high ratio might be due to excessive stock levels indicating the need for an improved system of stock control. Alternatively, the level of debtors might be too high, suggesting the need for an improved credit control policy to ensure that credit customers pay promptly and that had debts are minimized. Whilst consistently high cash and bank balances could be invested elsewhere to earn a higher return.

5.2.10
Liquidity ratios are of crucial importance. An organization that is too dependent upon short-term borrowings or which cannot meet its debts as they fall due is unlikely to be able to continue its business for too long.

(B)
Profitability ratios

5.2.11
On their own the amounts stated for gross and net profit do not convey a great deal of information to the user of a set of accounts. Their usefulness may be greatly enhanced by expressing each as a percentage of sales, allowing comparison with previous year’s and other organizations operating within the same sector, as well as providing an indication of how well an organization controls its costs.

5.2.12
There are two types of profitability ratios, those showing profitability in relation to sales and those showing profitability in relation to capital employed.

(a)
Profitability in relation to sales

5.2.13
Gross profit margin (銷貨毛利率)

	(i) Gross Profit Margin =
	Gross profit
	× 100%

	
	Sales
	


5.2.14
The gross profit margin expresses the gross profit as a percentage of total sales. For example, if our organization makes a gross profit of $150,000 on sales of $250,000, its gross margin will be 60%. In other words for every $100 of sales the organization is making a gross profit of $60.

5.2.15
A significant decrease in the gross margin between accounting periods might be due to a number of factors including:

(i)
an increase in the cost of raw materials, which it has not been possible to pass onto customers in the form of higher prices;

(ii)
an increase in competition in the market, resulting in lower prices and smaller gross profit margins;

(iii)
a change in the product mix, with the business selling a higher proportion of goods with a lower gross profit margin.

5.2.16
Net profit margin (純利邊際利潤率)

	(ii) Net Profit Margin =
	Profit before interest and tax
	× 100%

	
	Sales
	


5.2.17
The net profit margin expresses an organisation’s net profit as a percentage of total sales. Thus, if we make a net profit of $25,000 on sales of $250,000, our net profit margin is 10%.

5.2.18
A significant decrease in the net profit margin which is not accompanied by a similar change in the gross profit margin, might indicate that an organization needs to improve control of its expenses.

5.2.19
For example, it might be that wages have increased significantly necessitating a review of the level of overtime payments and the grade and numbers of staff employed.

5.2.20
The optimal gross and net profit percentage ratios will vary from industry to industry. What is of particular importance is that an organization reviews trends in its gross and net profit margin over time and investigates any significant changes.

(b)
Profitability in relation to capital employed

5.2.21
Types of ratios

	(i) Return on Total Assets
(資產總值回報) =
	Profit before interest and tax
	× 100%

	
	Total assets
	


Total assets represent the total sources of finance, i.e. owner’s equity, long term liabilities and current liabilities.

	(ii) Return on Capital Employed (運用資本報酬率) (ROCE) =
	Profit before interest and tax
	× 100%

	
	Capital employed
	


	(iii) Return on Shareholders’ Capital (ROSC) =
	Profit before tax
	× 100%

	
	Share capital and reserves
	


5.2.22
ROCE is the most popular primary profitability ratio, which states the profit as a percentage of the amount of capital employed. Profit is usually taken as PBIT and capital employed is share capital and reserves plus long term liabilities and loan capital.

5.2.23
The ROCE indicates how efficiently an organization uses those resources invested in it. The only difficulty involved in calculating the ROCE is deciding which definition of “capital employed” to use. Some organizations include only shareholders funds (share capital and reserves) in their definition, whilst others include shareholders funds and long-term debt.

5.2.24
As with other ratios so far discussed, as long as it is applied consistently the definition of capital that is used is not important, it is the trend indicated that we are interested in. From an investor’s point of view a high ROCE indicates an efficient use of resources and hence a better return on their investment.

5.2.25
For example, if an organization makes a profit before interest and tax of $15,000 and total capital employed is $100,000, the ROCE is a healthy 15% indicating that resources are being effectively used. This ROCE is likely to be acceptable to investors. The same profit from a capital investment of $500,000, will result in a ROCE of 3% ($15,000/$500,000), which is less likely to be acceptable to investors.

5.2.26
In assessing ROCE, two secondary profitability ratios can be examined which contribute towards the return on capital employed:

	(i) Profit Margin =
	PBIT
	× 100%

	
	Sales
	


	(ii) Asset Turnover =
	Sales
	

	
	Capital Employed
	


ROCE = Profit Margin x Asset Turnover

5.2.27
A company may make a low profit margin on its sales but if it has a high asset turnover and thus uses its assets well to generate sales, the resulting ROCE will still be high. In contrast, a high profit margin may mean that sales prices are high, resulting in sluggish sales and thus low asset turnover and thus low ROCE.

(C)
Management efficiency ratios

5.2.28
Several ratios are used to indicate how efficiently an organization is utilizing its assets. In general the better its use of assets the higher an organisation’s rate of return. The most common of which are considered below.

(a)
Fixed assets turnover (固定資產週轉率)

5.2.29


	Fixed Assets Turnover =
	Sales

	
	Fixed assets


5.2.30
Of key important is how effectively an organization utilizes its fixed assets. There is little point in having fixed assets which are constantly underutilized. The sales to fixed assets ratio indicates how much each $1 invested in fixed assets generates in sales.

5.2.31
For example, if an organization has annual sales of $250,000 and the net book value of its fixed assets is $100,000, its fixed assets turnover ratio is 2.5:1. In other words for every $1 invested in fixed assets $2.50 of sales is generated.

5.2.32
In general, the higher the fixed assets turnover ratio, the more efficiently fixed assets are being utilized. However, care must be taken when interpreting this ratio since it may be distorted through:

(i)
a significant investment in fixed assets during an accounting period which will increase the value of fixed assets and will in the short term result in a lower sales-fixed assets ratio;

(ii)
alternatively if little investment in fixed assets takes place and fixed assets are written down to a low or negligible book value in an organizations balance sheet, the sales-fixed assets ratio will be very high.

(b)
Stock turnover ratio (存貨周轉率)

5.2.33


	Stock Turnover Ratio =
	Average stock held
	× 365 days

	
	Annual cost of sales
	


5.2.34
As well as tying up an organisation’s resources, holding unnecessarily high levels of stock is expensive in terms of storage and security costs. Also, the longer that an organization holds its stock the greater the risk that goods will perish or become obsolete.

5.2.35
The stock turnover ratio expresses in days how long, on average, a business holds stock for. The shorter its turnover period the better, since less money is tied up in stock and stock will be converted into cash more quickly, enabling an organization to realize profits sooner rather than later.

5.2.36
For example, if during an accounting period an organisation’s cost of sales is $500,000, and the average amount of stock held is $12,500, the average length of time that stock is held is

	$12,500
	× 365 days =
	9.125 days ~ 10days

	$500,000
	
	


5.2.37
The average length of time that stock is held will depend upon the type of organization and the sector in which it operates. For example, a restaurant would not expect to hold fresh produce for more than a few days.

5.2.38
As already mentioned it is important that an organization does not burden itself with levels of stock which are too high. It is equally important that the level of stock is not too low since this will result in lost sales. A good system of stock control will assist in ensuring that an organization holds the optimum level of stock.

(c)
Debtors collection period (債務人平均收帳期)

5.2.39


	Debtors Collection Period =
	Average debtors
	× 365 days

	
	Annual credit sales
	


5.2.40
The debtors collection period indicates the average number of days between a credit sale taking place and an organization receiving cash payment from a customer. The shorter the collection period the better, since liquidity will improve and the risk of bad debts will be reduced.

5.2.41
For example, if annual credit sales is $750,000, and the average level of trade debtors is $50,000, on average the credit period taken by debtors is:

	$50,000
	× 365 days =
	24.33 days ~ 25days

	$750,000
	
	


5.2.42
A good credit control policy will ensure that the average collection period remains as low as possible. Credit control is essential since if debtors take too long to pay an organization will struggle to meet its own credit payments as they fall due.

5.2.43
In general, the credit period should not exceed 30 days and anything significantly in excess of 30 days should be investigated.

(d)
Creditors turnover period (債權人平均收帳期)

5.2.44


	Creditors Turnover Period =
	Average trade creditors
	× 365 days

	
	Annual credit purchases
	


5.2.45
Another useful ratio is the creditor turnover period which shows the average number of days that a business takes to pay its suppliers for goods purchased on credit.

5.2.46
For example, if annual credit purchases amount to $350,000, and the average amount of creditors is $25,000, the average time taken to pay creditors is

	$25,000
	× 365 days =
	26.07 days ~ 27days

	$350,000
	
	


5.2.47
Since we are concerned with trends, if credit purchases is not available the organisation’s cost of sales may be used instead.

5.2.48
Although some organizations see trade credit as a form of interest free funding, it does in fact have a cost. Delays in paying suppliers will result in an organization foregoing discounts for prompt payment.

5.2.49
Whilst an organization which persists in exceeding the agreed credit period runs the risk of adversely affecting its business’s credit rating, and even having its credit facility withdrawn by suppliers.

5.2.50
Like the debtors collection period, in general the period taken to pay suppliers should not exceed 30 days.

(D)
Capital structure ratios

5.2.51
Investors, potential investors and other lenders will be particularly interested in an organisation’s long-term funding arrangements. The higher the ratio of debt to equity the more dependant an organization is upon borrowed funds, and the greater the risk that it will be unable to meet interest payments on these funds when they fall due.

(a)
Debt ratio (負債比率)

5.2.52


	Debt Ratio =
	Total liabilities
	× 100%

	
	Total assets
	


5.2.53
Debt ratio is the ratio of a company’s total debts to its total assets. Debts consist of all types of debts. Assets consist of all fixed assets at their balance sheet value, plus current assets. It measures the company’s ability to meet all liabilities.

(b)
Equity ratio (權益比率)

5.2.54


	Equity Ratio =
	Total owner’s equity
	× 100%

	
	Total assets
	


5.2.55
Equity ratio reflects the relative importance of equity financing to the firm. The higher the equity ratio, the better the ability of the company will have to meet its external obligations. Debt ratio plus equity ratio equals to 100%.

(c)
Gearing ratio (槓桿比率)

5.2.56


	Gearing Ratio =
	Long term debt (long term loans and preference shares
	× 100%

	
	Capital employed
	


5.2.57
Gearing is the relationship between a company’s entity capital and reserves and its fixed return capital. Gearing is also referred to as “leverage” in some countries.

5.2.58
A company is highly geared if it has a substantial proportion of its capital in the form of preference shares or loan notes. A company is said to have low gearing if only a small proportion of its capital is in the form of preference shares or loan notes. A company financed entirely by equity shares has no gearing.

5.2.59
If a company uses bank overdraft persistently as a semi-permanent source of finance, it may be included as part of long term debt.

5.2.60
The importance of gearing can be illustrated by an example as follows.

5.2.61
Note all companies are suitable for a highly geared structure. A company must have two fundamental characteristics if it is to use gearing successfully. These are as follows:

(i)
Relatively stable profits – Loan interest must be paid whether or not profits are earned. A company with erratic profits may have insufficient funds in a bad year with which to pay loan interest. This could result in the liquidation of the company.

(ii)
Suitable assets for security – Most issues of loan capital are secured on some or all of the company’s assets which must be suitable for the purpose. A company with most of its capital invested in fast depreciating assets or inventories subject to rapid changes in demand and price would not be suitable for high gearing.

5.2.62
The classic examples of companies which are suited to high gearing are those in property investment and the hotel/leisure services industry. These companies generally enjoy relatively stable profits and have assets which are highly suitable for charging.

5.2.63
Companies not suited to high gearing would include those in the extractive industries and high-tech industries where constant changes occur. These companies could experience erratic profits and would generally have inadequate assets to pledge as security.

(d)
Interest cover (利息覆蓋比率)

5.2.64


	Interest Cover =
	Profit before interest and tax
	

	
	Interest charges
	


5.2.65
This ratio indicates how many times interest payments on long term debt are covered by profit before interest and tax. The higher the level of interest cover the less likely the chance that interest payments will not be met, and hence the lower the level of financial risk associated with an organization.

5.2.66
The lower this ratio the greater the chance that a decline in profits will result in either:

(i)
interest payments not being met; or

(ii)
profits available for distribution to shareholders being very low, resulting in small or no dividend payments being made to shareholders.

5.2.67
If lenders are not happy with the capital structure ratios calculated, an organization will find it difficult to raise additional long term finds, or will have to pay a premium for such funds in the form of higher interest rates.

(E)
Investment ratios

5.2.68
If prime concern to any investor is the return that they will receive from their investment in an organization. Any return must be sufficient to reward the investor for the risk attached to that investment.

(a)
Dividend cover (盈利股息比率)

5.2.69


	Dividend cover =
	Profit after tax less preference dividend

	
	Total dividend


5.2.70
The dividend cover ratio indicates the proportion of available profits which is distributed to shareholders and the amount which is distributed to shareholders and the amount which is retained by the organization.

5.2.71
Care must be taken to ensure that investors are satisfied with the dividend declared, whilst enough profits must be retained to fund the future growth of the organization.

(b)
Price Earnings (P/E) ratio (市盈率)

5.2.72


	P/E ratio =
	Current price per share

	
	EPS


5.2.73
P/E ratio is the ratio of a company’s current share price to the latest EPS. A high P/E ratio indicates strong market confidence in the future profit growth of the company. Conversely a low P/E ratio indicates low market confidence in the company making a profit.

(c)
Dividend yield (股息率)

5.2.74


	Dividend yield =
	Dividend per share of previous year
	× 100%

	
	Current market price per share
	


5.2.75
Dividend yield is the rate of return a shareholder is expecting on an investment in shares of a company. Since shareholders expect dividend yield and capital growth, dividend yield is an important indicator of a share’s performance.

5.2.76
The yield will be influenced by the dividend policy of an organization; a company which has traditionally paid high dividends will be popular with some investors and this will be reflected in its share price.

5.2.77
From investor’s standpoint, the dividend yield indicates the return that an investor earns from holding shares in a particular company, and the higher the dividend yield the better. A low dividend yield might persuade investors to dispose of shares and invest the proceeds elsewhere.

(d)
Earning yield (盈利率)

5.2.78


	Earning yield =
	EPS
	× 100%

	
	Current market price per share
	


5.2.79
Earning yields measures a company’s earnings relative to its market capitalization value. It is another way of showing the financial return to ordinary shareholders.

(F)
Summary of ratios

5.2.80
The following table is the summary of ratios which are discussed above:

	Group
	Ratio
	Formula

	1. Liquidity
	(a) Current ratio
	Current assets/current liabilities

	
	(b) Acid test
	(Current assets – stock)/current liabilities

	2. Profitability
	(a) Gross profit margin
	Gross profit/sales

	
	(b) Net profit margin
	PBIT/sales

	
	(c) Return on total assets
	PBIT/total assets

	
	(d) Return on capital employed
	PBIT/capital employed × 100%

	
	(e) Return on shareholders’ capital
	Profit before tax/share capital and reserves × 100%

	3. Management efficiency 
	(a) Fixed assets turnover
	Sales/fixed assets

	
	(b) Stock turnover
	Average stock held/annual cost of sales × 365

	
	(c) Debtors collection period
	Average debtors/annual credit sales × 365

	
	(d) Creditors turnover period
	Average trade creditors/annual credit purchases × 365

	4. Capital structure
	(a) Debt ratio
	Total liabilities/total assets × 100%

	
	(b) Equity ratio
	Total owner’s equity/total assets × 100%

	
	(c) Gearing ratio
	Long term debt/capital employed × 100%

	
	(d) Interest cover
	PBIT/interest charges

	5. Investment ratios
	(a) Dividend cover
	Profit after tax less preference dividend/total dividend

	
	(b) P/E ratio
	Current price per share/EPS

	
	(c) Dividend yield
	Dividend per share of previous year/current market price per share × 100%

	
	(d) Earnings yield
	EPS/Current market price per share × 100%


PAGE  
325

_1443090859.bin

_1346157618.unknown

